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ANNUAL INTERMEDIATE EXAMINATION - 2024
CHEMISTRY

( Compulsory )

Total Time : 3 Hours 15 minute . ' Full Marks : 70
FATE: 3T 15 fire | uiie 1 70

General Instructions / mﬁém :

1. This Question Booklet has two Parts — Part-A and Part-B.
T W -G H g W — WET-A 71 WE-B g
2. Part-A is of MCQ Type having 25 marks and Part-B is of Subjective

Type having 45 marks.
'umAﬁ zsm%mmmmsﬁ%m%ﬁmﬁgmél

3. The candidate has to answer in the Answer Booklet which will be

provided separately

qfiermeff Y 37en § IqTEY HUS TS I- gﬁ:awﬁaﬁtém%l

4.  Part-A — There are 25 Multiple Choice Questions having four (4)
options (A, B, C & D). The candidate has to write the correct option
in the Answer Booklet. All questions are compulsory. Each question

carries 1 mark. There is no negative marking for wrong answer.
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5. Part-B — There are three sections : Section-A, B & C.

This part is of Subjective Typé having Very Short Answer, Short

Answer & Long Answer Type qﬁestions. Total number of questions

is 23.

‘Section-A — Question Nos. 26-34 are Very Short Answer Type.

Answer any 7 questions. Each question carries

1 mark. -

Section-B — Question Nos. 35-42 are Short Answer Type. Answer

any 6 questions. Each question carries 3 marks.

Answer the questions in maximum 150 words each.

Section-C — Question Nos. 43-48 are Long Answer Type. Answer

any 4 questions. Each question carries 5 marks.

|TLv(xm)-55001] ' XS-CHE-(COMP.)-S
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Answer the questions in maximum 250 words each.
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6. Candidates are required to answer in their own words as far as

practicable.
. qheefl gumE IO W 7 & I
7. Draw neat and clcar diagrams wherever necessary.

& ITEES 8 Wes aul Wy Wi T
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8. Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily before leaving the examination hall.
ghemeff ohien WaT Big? & Uget AU IW-YfawT deres H A w9 @
e d |

9. Candidates can take away the Question Booklet after completion of

the Examination.

e T R 3 i Tl - g o e S o a
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( Multiple Choice Type Questions )
( =gfermedia v )

Question Nos. 1 to 25 are Multiple Choice Type. Each question has four
- options. Select the correct option and write it in the Answer Sheet. Each |

question carries 1 mark. | _ 1x25=25.

T e 12 25 0% giEedd YhR #1 ¥ T % 9w fwed €1 v e
wmg@w;ﬁﬁaﬁlmwiﬁm%p

1| Which of the following is not a solid solution ?
(A) Brass - (B) Bronze
(C}  Hydrated salt (D) Aecrated drinks

TLV(XII)-5509 1 XS-CHE-{COMP.)-S 5/ 39
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What is the molality of a solution formed when 58-5 g of NaCl is

dissolved in 200 g of water ?
(A) 295M (B) 050M
(g 0005M (D) 02925 M

585 g NaCl &I 200 g 9 # Hien Tl 38 ferm £ Iﬁ?ﬁi‘cﬂ =1

ghft ?
(A) 59-5 M - '(B)I . 0-50 M
© o000sM . (D) 02025M

TLV(X11)-55091 XS-CHE-(COMP.)-s = 6/ 39
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3, Which of the following is a colligative property ?
(A) Relative loweririg of fluid pressure
(B) . Decrease in boiling point
(C}. Decrease in freezing p('Jint .
. (D) Chénge in volume after mixing
frafefed § @ s JuEE oY § °
(A) T gE HT FMRH I
. (B) . TEYH B I
() e 1 T
(D) forsor & W A giEd |
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4.  Emf of a cell with Nickel and Copper clectrode will be

( Given Egaﬂ;m =_—0-25 v, Ezu2+fcu=+ 0-34 V)
_(A) -059V - ] (B) +0:59V

(C) + 0:09V | (D) - —0-09 V

Pilsr qen e e ) At 97 ey

(Egi"'z[l\h =-0.25 V, Eguz oy =t 034 V)

(A) -059V ' B) +059V

(C} +009V - (D) -0-09 .V

TLV(XI)-55091 XS-CHE-(COMP.)-S 8 / 39
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Which of the following statements is true 'regarding a primaI‘Y cell? .
(A) The_ele;tr ode reactior;s caﬁ be reversed

,{\B)/ It can be rgchargled |

(C) - An example o_f a primary cclllis a _mercury CClll ;o

(D) An example of a primary cell i.s r‘1ickel~cadmium storage cell -
r.maﬁﬁazﬁ%aﬁﬁﬁﬂr-m e Wl & o

A)  PRE aﬁ:rWaﬁ ﬁﬁqﬁam_mm%

o s g e e

(D) el et 1 Th STE W'WW@H%
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6.  The unit of rate constant for the zero order reaction is
A) Ls - (B) I_,mt_Jl‘ls"l
(€ mollL's’ D) mols”
o e o 3 i 6 s 2
| (A) _ Ls™! | (B) Lrﬁol_ls‘l
€ molLTs™ . (D) mols”!
. 7 A rearition in which reactant ( R) are converted into products (P)

. follows second order kinetics. If concentration of reactant ( R ) is

increased by 4 times, what will be the increase in rate of formation

of P ?
(A) O times - | (_B) . 4 times
(C). 16times (D) - "8 times

TLV(XII)-55091 XS-CHE-(COMP.)-S 10 / 39
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3- What is the order of reaction of the gfaph of concentration ‘versus

time shown below ?

T

(a-x)
concentration
time t —>
~ (A)  Zero order ' (B)  First order
(C) Second order | (D)  None of these

@xn}-ssom | XS-CHE-(COMP.)-S 11 / 39
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- Value of t, /2 for ﬂ'rl_st order,reactioh is given as

R 693

@)t =0 B g, - 2092

6.023 | o :

I = - B p—
TLV(XT1) 55091 - XS-CHE-(COMP.)-S
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(R, ] _ 0693
Wy = A8 tya =T

6-023 R
€t =% ) ty2 775693

1. The elements with Anomalous clectronic configuration in th

series are of

(A) CrandFe (B) CuandZn
(C) FeandCu (D) Crand Cu
a4 foft 3 frew i @ T@ 7@ 2

(A) Cr 3N Fe (B) Cu 3R Zn

(C) Fe 3i‘lt Cu (D}~ Cr 3 Cu

LTLV(Xm)-55091 XS-CHE-(COMP.)-S
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11. Lantharoid contraction is due to incrcasc 1n

(A) atomic number
\(I}V effective nuclear chérge
(C)  atomic radius
[—
R # afg ¥ o A S B R
(A) oy HE
| (B) SNTEﬁ EIRETD msr
()  wwmm f

(D) W%ﬁaﬁfﬂ |
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which of the following complexes is homoleptic ?

(A) [CO(NH:; ’e]3+

(B) [Co(Nl;ia ]4C12]+

© [NiH0),c1,]>

o) [Ni(nNHy),cL,]

O N T Y Y

) [Co(NH,)

B [covm,),cl]

© [ni,0),c1,]?

o) [Ni(Ni,),Cl,]

[TLvixn)-55091
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13.  An example of bidentate ligand is

i
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(A) NO; | 8 07
© co¥ (D) CN™
| R i 1 e

@ Ny c,0%
(C) c_o'g-'_ . (D) CN-

14,

(\%ﬁ 2—chlorobutané
(B) secondary butyl chloride
. (C) isobutyl chloride

| JD) : S-Chloro—S—methyl pentane

TLV(XII)-55091 | XS-CHE-(COMP.)-§
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(C)  HIZHIEIEA dellngs

-

Dy 3-a0-3- g 1

J9~ Arrange the following compounds in increasing order of their

boiling points !

Clly
" S CH—CH,—Br
o cn,
i) CHy—CHy— CHy— CHBr
Hy
(iiij CH;—C—Br
H,

(A) (i) < (i) < (3)
(B (0) < (i) < (i
(€) (i) < (i) < (1)
(D) (iii) < (i) < ()
- 17 / 39
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(A)
(B)
(C)

(D)

16.  C4HZOH +3HNO, (conc.)——s'A' +3H,0

Download PDF from - JACBoardSolutions.com
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CH - CH2 _Br

i) CHs—CHg— CHz— CH,Br

CH,

I
(i) CHs—C—DBr

|
CH,

(ii) < (iii) < (i)
(i) < (ii) < (iii)
(iii) < (i) < (ii)

(iif) < (ii) < (i)

Product 'A’' is

“(A)
(B)

(C)

o-nitrophenol

m-nitrophcnol

2,4-dinitrophenol

@)/ 2,4,6-trinitrophenol

TLV(XII)-55091
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CyHsOH+3HNO, (conc,)——, 4 +3H,0

31 A’ B

(A) o~

(B) m-TES

€) 2,4-W |
(b) 2,4,6@%:13;‘1%3

17. Mark the correct order of decreasing acid strength of the following

compounds :
NO, OCH,
(a) (b) (c)
.\(y/b:’abc (B) a>b>c
(D) c>b>a

(C) c>a>h

19 / 39
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OH - OH OH
NO, OCH,
(@) (b) ()
(A) bba}c. (B) a>b>c
© coasb - . ‘D) c>b>a

'18.  In Clemmensen reduction, carbonyl compound is reacted with

\9,)/ Zinc amalgam + HCI

(B) Sodium amalgam + HCI
- (C)  Zinc amalgam + HNO,

(D)  Sodium amalgam + HNO3

TLV(XII)-55091  XS-CHE-(COMP.).s 20 / 39
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(D) HifeTm smrermy + HN‘O

19. The oxidation of toluene to benzaldehyde - by chromyl chloricfe is

called

W Etalrd react-ion'
(B) Reimer-Tiemann reac_:tioﬁ
(C}  Stephen's reaction

(D)  Cannizzaro reaction

T '
.- ' XS-CHE-(COMP.)-S 214 39
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() wE aqﬁr%m .
(B) T~ JAIHAT
(€) wHA Aflsea
() A SR
20. Which of the following does not give aldol condens'gtion reaction ?
A ;:H CHO - ® I- @CHO |
(C) {_cHo | (D) | CH,COCH,
_ﬁmﬁ“-rﬁa?l q fI $I TeSId HoA i1 T8l 3 ?
(A) CH,CHO @‘CHO
(om0 ._(D) CHBCO;?,HS

TLV(XII)-55091  XS:CHE-(COMP.)-§ 22 /.
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21.  Onc of the reagents for S

andmeyer reaction is

k(?}* CuBr/HBr

(D) None of these

(A)  Cu/HBr

(C)  Cuats73k
Ham Al fom w vt 2
(A)  Cu/HBr (B) CuBr/HBr

(C)  S73KW Cy

(D) ¥4 ﬁé el
22.  Hinsberg's reagent which is used (o test amiml:s is
(A)  Benzene sulphonamide
(B)  Benzene diazonium chloride
Menzcne sulphonyl chloride
(D)  Acetanilide
@vqxn}-ssbgl XS-CHE-(COMP.)-S
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@A) =i H?@WTS"S' |
(B)l. A SR TS
" (©) | EESiE a?cﬁ:ﬂﬁ aﬂ‘mg | |
(D) efierfefie
23. Glucose and fructose are -
{j;)/[somcrsl of each other
(B) ‘Homologus of each otlher
(C) - Anomers 5f each other

(D) Enantioners of each other

TLV(XII)-55091 . XS-CHE-(COMP.)-S
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(h) T G oy
(B) TP T F By

(C)

(D)

(A)

(B)

(€)

UF gEl %

TH g % gfefim =y

Curdling of milk is an example of

breaking of peptide linkage

hydrolysis of lactose

breaking of protein into amino acids

Mnaturation of proteins

e |
e 55001 | X8-CHE-{COMP.)-S
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(A) A<TES 9 F A H

l{B] a@a%wmﬂ

©) Wﬁmﬁm@'ﬁ FqEed &

Which base is not found in DNA ?

(A) Adénine{ﬁ_}.. B Guanine (G)
©, Uracil(U) () lThj%rfnine[lT)
DNA # -3 mqﬁfww% ':

(A) T (A) B WA (G)

© (V) (O wEdw(T)

TLV(XI)-55091 XS-CHE-(COMP.)-S 26/
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( Subjective Type )
( tewafis wem )
Section - A
T ug - A
( Very short answer type questiqns )
( atfa g sl wom )

ANSWer any seven questions.

gl O vl & I S

26. What is the sign of AG for electrolytic cell ?

I Il ¥ % U AG % ¥ fag g 2

TLV(XT11)-55091

XS-CHE-(COMP.)-S

CHE
Bcience

ho
~1
~
G
'e]



Download PDF from - JACBoa[dSqutions.com

r
Zj/ Calculate the order of a

expression :

Rate = k[ A]’[B].-

Be[hm

caction which has the fonowmg rat.e.

& = k[AP[B].

%V Which element of the 3d series of the transition metals exhibits thc

largest number of oxidation states ?

mﬁaﬁiﬁsdaﬂﬂmaﬁq—maﬁa@ﬁmﬁﬁmm

‘aaﬁ?rr%?

TLV(XII)-55091
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29. What type of isomerism is shown by the complex

{Cr(H,3) (NCS) 2 »

[Cr(H,0)(NCS)|*? e gr1 #7-h wwreraeren weRfa i ot 2 2
30" Why has propanol higher boiling point than prbpane'"? o
ST 1 g § S 1 3w e @i 2

3\}’-’ What is Tollen's réagent ?

AT 1 s w2 2
1%%,- What happens when glucose is treated with Br water ?

e s A T A o U E A A 2 o

|TLV(xm-55091 XS-CHE-(COMP.)-S | 29 / 39
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tanal.
33. /Draw the structur€ of 3—hydroxybu a

3 regrRieRe A HE T

34- Name It_he milk sugar present in rmlkl.

gy # Iufea g R‘IE%’\T 1 Wl ERIE
Section - B
s - B
| _ ( Short answer type questions )

(egIwiaus ) -

Answer any six questions. Answer the questions in maximum

150 words each.

for=gl ©: Tl & S| HeAF T A IR arfrmam 150 wed F 3

:\39( Define the folloWing :

(i) Molality (ii) Mole-fraction.

[TLV(X1)-55091 | XS-CHE-(COMP.).g
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(i) FETI (i) i3

;iy A solution of CuSO,, is electrolysed for 10 minutes with a current
of 1-5 amperes. What is the mass of copper deposited at cathode ?

(Atomic mass of Cu =63 U)

Cuso, % foer i zstﬁmaﬁwft 10%%@@%%&1
W|%ﬁﬁgmﬁ%ﬁam?ﬂwﬂwm?(mmmﬁﬁ
SeAHM = 63 U) | |
37. | Predict_Which of the following ions .wiil.‘b.e coloured -in aqueous
solution : " |
Cu*, Sc®*, Mn?*
Peafrfed 3 -2 o et e § o 7 2

Cu®, Sc*, Mn?*

TLV(X11)-5509 1 XS-CHE-(COMP.)-S 31/ 39
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Write the IUPAC names of the following :

(a) [Co(NH,), ]Cl,

(b) K,[Fe(CN),]
() [(";1-(:12(1{20'14 I*

ﬁm%f%ﬂﬁﬁﬁﬁ%wmc?rm%@:

(@) [Co(NH,), ]Cl,
() K, [Fe(CN),)

() [Cr ClL,(H,0), ]

‘Predict the products :

o)
(a) - é + NH, OH——>
N,Cl |
(b) + HzPO, + H,0—>
() o ¢ =oZutg/Hel
C,HS

TLV(X1)-55091

XS-CHE-(COMP.)-§

32/ %



Download PDF from - JACBoardSolutions.com

JAC EF_’!B._
clence
fraferien % srarg st
(a) & + NH‘QOH——:r
N,Cl.
(b) + HyPO, + Hy0—>
CH
Q S NG o Zo-He/HCL
o i

f(}/ How will you bring abéut !the following COI’IVC!‘SiDl-'lS ?
(a) -_ Benzene to nitrobenzene
(b) Benzoic acid to m-bromobenzoic acid
c) 1—ch10robutane to n-octane.

(@) é—nﬁqﬁm@%ﬁﬁq

(b)  S=gH A ¥ m-FHIS-AIgh T

(¢) 1R ° n-3TEA

@’Ixni-ésogl | XS-CHE-(COMP.)-S 33 / 39
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4\1// Differentiate between globular and fibrous fproteins.
Ve o MR (globular) WiEHT =t fafea Hifdmu
il}'. Distinguish between DNA and RNA.
DNA @1 RNA # fades i)
| Section - C
wE_c
( Long answer type questions )
(ﬁﬁﬁﬁvm)
Answer any four questions. Answer the questions in maximum

250 words each. . : - ‘ Sx4=720

Rl =R T¥ 1 & I <1 TS I I IR ARwam 250 W F
43. Calculate the mass of ascorbic acid ( Vitamin C | CeHgOg) to be

dissolved in 75 g of acetic acid to lower its melting point by 1-5°C.

K, =39 K kg mol .

TLV(XI)-55091 XS-CHE-(COMP.)-S 34 / 39
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t{aﬁﬁmm(ﬁaﬁqc, CeHgO,) & 3@ ZomM @1 ufiehem HIf,
Rt 75 g Whiews amet  Sred w wws momiw § 150 B FH B 9

K, =3.9K kg mol ™!,

44, In a reaction between A and B, the initial rate of a reaction ( o)

was measured for different initial concentrations of A and B as '

given below :

A/mol Lt 0-20 0-20 040

B/molL~! 0-30 " o110 | 0-05

1

ry/molL™'s™! | 507x107° | 507x107° -| 143x 107

- What is the order of the reaction with respect to A and B?

[TLv(xm)-55001 XS-CHE-(COMP.)-S 35/ 39
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AaﬂtB%nmmﬁmﬁA'aﬂtBaﬁﬁmﬁmmﬁ%%ﬁ‘

W A () R e

A/mol L1 020 | 020 | = 040

B/mol L} 0-30 0-10 005

-1 - _
Io/molL™s™ | '5.07x 1075 | 5.07x10°°

143 x 1074

AﬁTB%ﬁﬁﬁﬁﬁfﬁ%mﬁ@ﬁW%?

45. ' Draw the figure for splitting of d orbital iri an octahédrai érystal

-

field.

RIS fhwe & # d%&@mﬁmﬁ%%ﬁ%ﬁaﬁx |

TLV(XII)-55091 XS-CHE-(COMP.)-S 36 / 39
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A',b/ Draw the structures of the following compoﬁnds :

(a) -

3-b!‘0m0?4-phcnyl pcnténoic acid .
(b) 4-mcthyl pcnt-S—en-Q-onc
(€) Salicylit-: acid
(d) N, N-dimethyl methanamine
C 1-chloro-4-ethyl cyclohexane
P vﬁﬁ:a?r 61 e R ;-
(@) . 3-Fm-4-%Ad ﬁ%ﬁﬁ I
(b) 4D ﬁ?SEﬁQSﬁ?
) afafufers T

(d). N, N-sEAfYer AgAia

(€)  1-FN-4-TT Argaciieaad

[TLvixm)-s5001 XS-CHE-(COMP.)-S 37 / 39
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4\7/ Write short notes on the following :

L]

(a) Sandmeyer rea-j.:ti(;m

(b) Cannizzaro reaction

() Carbylafninc reac—fion.
ﬁtrﬁ-‘lﬁiﬁ.ﬂ(@f\?ﬂ'ﬂ ﬁmﬁf?fﬁ‘ﬂﬂ |
(:-_i)-" ?fr—e'.ﬁm aﬂ’hm

(b) érrﬁm‘r iy

(c) - wifserafia arfifman)

TLV(XIT)-55091 XS-CHE-(COMP.)-S 38 / 39
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48 9 Differentiate between Order and Molecularity of a reaction.

o

(b)

A first order reaction has rate coh_stant 200_5"1 . Calculatce its

half-lifc.

Al 6 e qun snfteresar § fag B

Th W IR sl w1 3 fRRiw 200 s | 21 3@ e B

FG-3Y i Mo Hif



